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HEAE)] 1
2| N/ NERRRIT 23 5 2 30
KEAIES 3 46 7 3 59
AFEETS 5 63 43 4 3 118
5|88 E 3 33 36
6| N B EME /B A 3 1 1 1 1 1 7 1
T RREK 5 37 37 13 2 94
1imL 10 2 1 13
8|HiE0 1 1
9|tH /A REERT 17 2 1 20
10/lL A 14 2 16
11| BB Al
12| 7ES&EIER 29| 38
13[EFHIASE DA X IERI 3 3
14EFEFIX 1 5 1 25
15| S E{E S Bl 2 2 3 7 11 3
16]/\IEHEIL (KAEFHTO) 5 16 12 11 1 1 33 13
17| B8R EFER 15| 87
18| E &% SR ERAT 11| 181
19| 78 B 5P AR AT 30
| 20| {E &4 53 16
21| PRI 3 1 3 3 4
22| FA/NEHET LIS 3 2 1 4 6
23| JLREE A FT
24

26|57 SRR &)
INET 48] 48] 384 385 235] 162] 95] 6t 38] 36 16 15] 816 ] 707
] s paer 2 #(6:455 A{E(B 6{F .-- 0 OfE(16 &
26|55 SRR ]
| 25| &R ERBIT[ ]
BEETEED] 11 16 23 21 15 86
24 Y TS5HHI 66 1 85 2| 36 9 196 3
23|LFEE A 2 1 1 2
22| A/DFHET GLILESFET) 1 1 1 1 2 2
21| R AT 1 3 8 5 1 1 1 9| 11
20[{E 2 AKIEHT 6 9 3 10 1 3 0] 22
19| 78 BB B AR A
18| E ik I ERAT 51 1 90 1] 141 2
17| B E TSR 1 28] 29] 2 6 2 2 1 54| 36
16 [/\tBHEL (A FHTO) 1 34 1l 2 1 7 4 2| 67
154 H EME F AT 1 3 2 2 9 6 3] 20
4EFEFIX 1 5 23 1 1 29
13[EEHIAIE O IERI 1 1 1 1 1 3
12| PEREEIERT 15 13 10 17 9 4 9 43| 34
| (1 |BEEF 4t A 1 1
10[lLFA 1 1 2
9| Hi A REERT 2 2 4
8|HEO 1 1
= 1 7 6 1 15
5 FREE 42 44 48 63 197
A EAY=ENEIEED 1 2 3
5|88 E 1 1 6 6 1 13
AFEETS 9 7 17 14 47
KEAIES 16 10 13 10 49
2| I /NS R 1 4 1 6
[ [EsElE] N N N N I N o o
[ INET 14 137 136] 200 151 185] 124 126 125] 126 550 [ 659
it 48] 48] 398 398 371 ] 371 ] 246 246] 162 [ 162] 141 ] 141 ] 1366 | 1366
& T IUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 2] 2 12] 2 1] 2 2 2 2 15
3 3] 3 19] 3 32 3 9] 3 3 3 63
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 5] 6 5] 6 4 6 2| 6 6 16
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 5] 2 2 5
3 3 1] 3 16] 3 19] 3 21 3 25 3 82
BEREITE 4 4 4 23] 4 14] 4 6] 4 3] 4 46
5 5 5 5 5 il 5 il 5 2
6 6 6 2] 6 10] 6 15| 6 33 6 60
7 7 2| 7 7 7 7 2

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA

7
T OREORES 1= ERELVE. 2=1(RE) ~2(FAB/) DRE. 3=2(ABE/N) ~3(2) DE. 4=3(2) ~4 (F=)
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No.

1{%E(6:25%)

5{%(10:30)

7{E(12:10)

9{&(15:30)
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I\

DfE. 5=4(FE) ~5 (&) DfE., 6=5 (&) ~6 (EE) DfE. 7=6 (BE) ~7 (F L) DM

x B E B ZE®E B E B E B ZE B =%
HE3E))] 4 8
2| B /INEAREI 19 2 3 2 26
ERIEANES 1 34 11 1 1 2 50
EEYES 1 55 43 4 103
5| E8EE 1 24 1 26
6| ¥A A B {E B AT 1 5 1 2 1 9 1
>~ Nk 1 28 24 6 1 60
15 E 4 4
8|HEO
9|t REERT 13 3 16
I TRN=]
11| B Er 4t Al
12| 7ERRGEERT 3 7 5 3 2 6 6 1 16 17
13[{FHIASE ST X G 1 2 3
4EFIX 14 1 4 5 2 22 4
15|43 & BYE B AT 2 6 6 1 8 7
16|/\iBE I (K FETO) 8 12 6 8 1 28 7
17| BHREFTERT 9 6 16 68
18| Bk £ IR ERA 143
19| FEER 4RI 9
| 20| {E & A TR 50 | 11
21| PR TEHI 2 1 1 6 1 1 2 10
22| R ARINERFT (SLILE AT 3 1 1 3
23| LBEE A 19
24(H > TS5HHI
| 25| 2 ERFIT[ 5]
I €D
P01 €. |
INET 22 22] 325 325] 160 128] 76] 46] 20] 19] 14 14] 617 [ 554
. R A 4{E . 8{& l l 2(16 2(18
26| % S mbrail %)
25| &R ERAIE]
#iRERAT[5) 10 25 20 8 10 73
24| TS5HHI 62 3 76 3] 33 5 176 6
23| LBEE A 1 3 2 1 1 7 1
22| R ARINERFT (SLILE AT
| 21| R FE A 4 4 1 1 5 5
20| (S KIEHI 10 7 2 10 1 1 13 18
19| Fa & 4R AT
18| Bk AR ERAT 46 1 57 103 1
17| RS TSI 25 22 11 4 12 12 60| 26
16| /\MEEIL (KX FETO) 2] 25 23 5 2 53
15| HEME BT 1 3 2 3 3 2 10
BEFIX 1 6 5| 22 6| 28
13|[{EEIASEOTEEB R ERT 1 1
12| 7ERREERT 10 7 10 12 9 2 1 30| 21
| 11| BEEF 44t Al
10/l A 1 1
9| s REERT 3 3
8|HEO
15 11 13
F< FEE 33 41 44 55 173
6| ¥ A B S Bl 2 5 10
5| BREE 1 1 1 1 2
RETE 4 13 10 7 34
K EAIES 14 7 9 7 37
2| B /INFEAREI 4 2 1 6 13
HEAO) | N BN W B O FE O EE S
[ INET 10 10 140 172 130 160 112] 113] 86| 86| 478] 541
it 22| 22] 335] 335] 300[ 300] 206 206 132 132] 100 [ 100 1095 [ 1095
O TIUREE X A% XB A% X A% XM A% XM A X A X AHGH
1 1 1 1 1 1 1
2 i 2 10] 2 2 2 2 2 11
3 3 18] 3 23] 3 4] 3 i 3 3 46
JREGEERAT 4 4 4 4 1 4 4 4 1
5 5 5 5 5 5 5
6 6 6 i 6 i 6 6 6 2
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 4] 2 4] 2 8
3 3 3 9] 3 17] 3 12] 3 23] 3 61
BEREITE 4 4 4 21| 4 11 4 14| 4 1| 4 47
5 5 5 5 5 5 i 5 1
6 6 6 1] 6 12] 6 14] 6 26] 6 53
7 7 7 2] 7 1| 7 7 7 3
OXFEDEEHM: 1 =FEREEKLYAT. 2=1(FEHE) ~2(1E/N) DfEl. 3=2(E/N) ~3 () D, 4=3(%) ~4(F=F)
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E B
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53
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£ g
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£ g

11{%(17:30)
B 53

gt

£

HEAE)] 11
2| N/ NERRRIT 3 25 1 13 3 1 46
KEAIES 1 44 20 5 1 71
AFEETS 2 1 65 44 5 116 1
5|88 E 1 30 31
6| N B EME /B A 5 7 1 3 2 18
T RREK 5 16 11 3 35
15E 1 4
8|tHiEO
9|tH /A REERT 16 16
10/lL A 2 2
11| BB Al
12| 7ER&EERT 25| 20
13[EFHIASE DA X IERI 1 1
14EFEFIX 1 6 5 2 24 8
15| S E{E S Bl 1 1 6 7 2 11 6
16]/\IEHEIL (KAEFHTO) 7 1 15 5 7 1 1 30 7
17| B8R EFER 9 6 17| 63
18| E &% SR ERAT 3| 188
19| 78 B 5P AR AT 27
| 20|{E 54 60 | 20
21| PRI 9 2 18 9] 20
22| FA/ BT (LIS 1 2 3 2 2 6
23| JLREE A FT
24
26|57 SRR &)
INET 441 44 414 414 169 127] 104] 66 13] 12 8 8] 752 671
] s paer 2 #(6:455 A{E(B 6{F 8{# o OfE(16 &
26|55 SRR ] 1 1
| 25| &R ERBIT[ ]
| | BEERAII#] 8 27 18 20 12 85
24 Y TS5HHI 70 80 3| 34 5 189 3
23|LFEE A 1 3 2 3 4 11 2
22| A/DFHET GLILESFET) 1 1 1 2 1
21| R AT 2 6 2 2 2 i T 5
20[{E 2 AKIEHT 8 11 4 4 3 15 15
19| 78 BB B AR A
18| E ik I ERAT 77 4] 80 157 4
17| B E TSR 1 16 24 15 11 11 4 1 2 41
16 [/\tBHEL (A FHTO) 2| 27 2| 23 10 1 4| 61
154 H EME F AT 4 7 12 3 2 28
4EFEFIX 7 7 28 2 7 37
13[EEHIAIE O IERI 1 1 2 1 3
12| PEREEIERT 9 11 12 12 6 1 1 28| 24
| (1 |BEEF 4t A
10[lLFA 2 2
9|t~ REERT 2 1 3
8|HEO
= 5 5 2 12
Fv v R 1 10] 12 18 26 28 12| 83
A EAY=ENEIEED 5 8 16 9 38
5|88 E 1 5 9 15
AFEETS 13 18 9 14 54
KEAIES 17 13 32 14 76
2| I /NS R 4 18 18 7 47
[ [EsElE] N N - N N - N o
[ INET 11 11] 140] 182 157 195] 154 155] 102 102] 564 [ 645
it 44 44 425] 425 309 ] 309 261 261] 167 [ 167] 110] 110]1316] 1316
& T IUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 3[ 2 10] 2 2 2 2 2 13
3 2] 3 5] 3 11] 3 2] 3 3 3 20
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 1] 6 6 il 6 6 6 2
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 3[ 2 2 4
3 3 3 5] 3 12] 3 15| 3 3] 3 45
BEREITE 4 4 1 4 4] 4 9] 4 0] 4 12] 4 36
5 5 5 5 5 5 2| 5 2
6 6 6 6 6 4] 6 2] 6 6
7 7 1l 7 1l 7 7 7 2

7
T OREOREH 1= ERELVR. 2= 1 (BE) ~2(RE/N) DE. 3=2(Ra/MN ~3(2)DE. 4=3 (%) ~4 (F=2)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA
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1{8(6:25%) 3{E(7.05%) 5fE(10:30) 7{E(12:10) 9OfE(15:30) 11{E(17:30) U\

F B E ®= B %= B F B =%
HEAE)] 2
2| N/ NERRRIT 3 15 2 3 1 24
KEAIES 1 44 24 3 72
NEERES 2 66 30 1 1 100
5|88 E 2 32 34
6| N B EME /B A 2 3 1 2 1 9
T RREK 2 23 13 6 2 1 47
1imL 3 6 1 10
8|tHiEO
9|tH /A REERT 16 16
10/lL A 1 2 1 4
11| BB Al
12| 7ER&EERT 11 10 4 7 5 10 1 31 21
13[EFHIASE DA X IERI 2 2 2 2
14EFEFIX 1 2 1 1 26 1
15| S E{E S Bl 4 3 2 3 1 11 2
16]/\IEHEIL (KAEFHTO) 5 2 14 4 4 1 1 23 8
17| B8R EFER 9 27| 61
18| E &% SR ERAT 2| 168
19| 78 B 5P AR AT 14
| 20| {E &4 32| 26
21| PRI 8 1 3 1 1 1 10 5
22| FA/ BT (LIS 3 5 3 5
23| JLREE A FT
24
26|57 SRR &)
INET 31 31 ] 379 379 177 131 76 | 35] 26] 24] 24 23] 713] 623
] s paer 2 H(6:455 A{E(B 6{F 8{# 0 OfE(16 518
26|55 SRR ]
| 25| &R ERBIT[ ]
| | BEERAII#] 9 31 26 22 6 94
24 Y TS5HHI 60 2| 82 2| 36 6 184 4
23|LFEE A 1 1
22| A/DFHET GLILESFET) 1 1 1 1 1 1 4
21| R AT 1 3 4 3 1 7 5
20[{E 2 AKIEHT 1 9 13 10 9 1 21 22
19| 78 BB B AR A
18| E ik I ERAT 59 2] 90 149 2
17| B E TSR 1 19 20] 25| 13 2 3 3] 49| 37
16 [/\tBHEL (A FHTO) 1 1] 29 3] 31 10 1 1 6| 71
154 H EME F AT 4 2 3 10 6 3| 22
4EFEFIX 8 35 43
13[EFIASE ORI ERT 1 1 2
12| PEREEIERT 10] 21 13 16 6 1 1 29| 39
| (1 |BEEF 4t A 1 1
10[lLFA 1 1
9|t~ REERT 1 1
8|HEO
= 6 7 1 1 15
5 FREE 17 27 21 31 96
A EAY=ENEIEED 5 17 14 36
5|88 E 2 2 10 14
NEERES 7 14 20 8 49
KEAIES 19 15 14 12 60
2| I /NS R 1 3 13 5 22
[ [EsElE] N N N N < o o s
[ INET 12] 12] 134] 180 165] 206 127] 129] 106 [ 107] 544 [ 634
it 31 31 ] 391 [ 391 ] 311 ] 311 ] 241 241] 153 ] 153] 130] 130 1257 | 1257
O TIUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 2 18] 2 2 2 2 2 18
3 2] 3 4] 3 12[ 3 5/ 3 1] 3 3 24
JREGEERATIT 4 4 1] 4 4 4 4 4 1
5 5 5 5 5 5 5
6 6 6 il 6 il 6 il 6 il 6 4
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 1l 2 1] 2 2
3 3 3 17 3 27| 3 20] 3 30 3 94
FERE(TE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
_7 7| 7 1 7 7 _7 7
O X DEHE M : 1 =FREXYAT. 2=1(FEE) ~2(E/M O, 3=2(H2/M) ~3(£) DR, 4=3(£) ~4(FF)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA
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1{8(6:25%) 3{E(7.05%) 5fE(10:30) 7{E(12:10) 9OfE(15:30) 11{E(17:30)

gt

F B 53 E ® B F B %
HEAE)] 1
2| N/ NERRRIT 7 8 2 2 19
KEAIES 29 14 12 2 1 58
NEERES 38 26 8 1 1 73 1
5|88 E 11 6 1 18
6| N B EME /B A 1 5 2 2 4 1 3 17 1
T RREK 9 10 4 1 24
15E 2 1 1 1 5
8|tHiEO
9|tH /A REERT 12 2 14
10/lL A 1 1
11| BB Al 1 1
12| 7ER&EERT 15 3 5 2 6 11 3] 27| 29
13[EFHIASE DA X IERI 1 2 3
14EFEFIX 8 3 3 3 2 26 3
15| {F HEYE B Al 2 1 2 1 5 1
16]/\IEHEIL (KAEFHTO) 7 9 2 2 1 18 3
17| B8R EFER 1 5 3 24| 66
18| E &% SR ERAT 2 2| 55
19| 78 B 5P AR AT 8
| 20| {E & A JERI 12| 22
21| PRI 5 1 1 5 2
22| A/NFHAT GLILEERET) 3 2 1 2 4 4
23| JLREE A FT 8
24|92 TSR
26|57 SRR &)
INET 21 21 ] 194 193] 158 115] 78] 68] 21 19] 27 27] 499 443

263 it kA 58]
EEET6)

| | BEERAII#] 17 20 20 34 5 96
24 Y TS5HHI 54 2] s1 1 36 10 181 3
23|LFEE A 2 1 1 4
22| A/DFHET GLILESFET) 1 1 1 1 2
21| R AT 1 2 1 2 2 1 1 5 5
20[{E 2 AKIEHT 1 1 5 11 4 9 1 11 21
19| 78 BB B AR A
18| E ik I ERAT 20 3 34 1 54 4
17| BB E T &I 2] 15| 23] 13 4 2 1 1 31 30
16 [/\tBHEL (A FHTO) 2| 25 22 12 3 2| 62
154 H EME F AT 7 1 1 3 1 8 2 19
4EFEFIX 2 5 1 37 1 44
13[EEHIAIE O IERI
12| PEREEIERT 15 6 7 13 12 6 6 2] 40| 27
| (1 |BEEF 4t A
10[lLFA 1 1 2
9|t~ REERT 1 1
8|HEO
= 3 4 7
5 FREE 11 3 17 17 48
A EAY=ENEIEED 5 7 9 5 26
5|88 E 1 1 7 2 11
AFETH 12 12 11 3 38
KEAIES 1 18 9 14 12 54
2| N B /NERRRT 2 1 5 1 9
HEEE N N N o N N N
[ INET 19 20T 114 157 131 141] 107] 109] 57 57] 428 484
it 21 21 ] 213 [ 213] 272 2721 209 209] 128 | 128] 84| 84| 927] 927
& T IUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 7] 3 9] 3 5/ 3 3 1] 3 22
JRAEERATT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 2] 6 6 6 6 6 2
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 1] 3 3 3 17 3 17] 3 48
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
_7 7| 7 1 7 7 _7 7
OXRDEEHS: 1 =RFEREXVAT. 2=1(F#E) ~2(B/N OR. 3=2(138/N) ~3(£)DME. 4=3(%) ~4 (#F)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA
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D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA

HEAE)] 3
2| N/ NERRRIT 1 14 13 1 3 32
KEAIES 34 12 3 49
AFEETS 65 40 5 110
5|88 E 2 28 30
6| N B EME /B A 4 6 3 1 14
T RREK 22 8 4 2 36
1imL 1 3 2 6
8|tHiEO
9|tH /A REERT 7 1 8
10/lL A 1 1
11| BB Al
12| 7ER&EERT 12 5 1 2 7 1 13| 20
13[EFHIASE DA X IERI 1 1 1 1
14EFEFIX 0 1 11 3 1 25 11
15| {F HEYE B Al 3 3 4 2 8 4
16]/\IEHEIL (KAEFHTO) 5 9 5 3 4 2 17 11
17| B8R EFER 1 8 20| 53
18| E &% SR ERAT 4 4| 159
19| 78 B 5P AR AT 10
| 20| {E & A JERI 31 19
21| PRI 14 1 1 1 14 15 16
22| FA/ BT (LIS 5 3 1 6 3
23| JLREE A FT 15
24|92 TSR
26|57 SRR &)
INET 17 17] 341 339] 165] 120] 68] 48 17 16 10] 10] 618 550
] s paer 2 H(6:455 4 = .“-- 8{# o o H(16 518
26|55 SRR ]
| 25| &R ERBIT[ ]
R €D 22 28 20 20 11 101
24 Y TS5HHI 48 5] 61 4| 32 12 153 9
23|LFEE A 1 1 2
22| A/DFHET GLILESFET) 1 1 1 1 1 3
21| R AT 3 2 2 1 2 6
20[{EEARIERI 1 10 9 3 2 1 14 12
19| 78 BB B AR A
18| E ik I ERAT 82 100 1] 182 1
17| B E TSR 11 20 11 7 6 8 2 2] 35| 32
16 [/\tBHEL (A FHTO) 1] 25 18 5 4 6| 47
154 H EME F AT 9 4 2 4 6 2| 23
4EFEFIX 1 2 5 5 28 2 7 36
13[EEHIAIE O IERI 1 1
12| PEREEIERT 12 9 9 11 5 2 2 28| 22
| (1 |BEEF 4t A
10[lLFA
9|t~ REERT 1 1
8|HEO
= 5 2 2 9
5 FREE 24 12 25 33 94
A EAY=ENEIEED 5 5 27 27 64
5|88 E 2 3 10 15
AFEETS 15 10 12 23 60
KEAIES 16 12 30 17 75
2| I /NS R 1 1 1 12 15
[ [EsElE] N N - N o N N s
[ INET 25 277 122 167] 108 128 154 155] 125[ 125] 534 602
it 17 17] 366 366] 287 [ 287 176 176 171 ] 171] 135] 135] 1152 [ 1152
O TIUREE X A% X A% XB A% KB A% KB A% XE A% XHE ABG
1 1 1 1 1 1 1
2 2 8l 2 2 2 2 2 8
3 3 14] 3 6] 3 4] 3 4] 3 3 28
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 [ 2 7] 2 8
3 3 3 10] 3 8] 3 16] 3 21 3 55
FERE(TE 4 4 4 8l 4 2| 4 3] 4 4 15
5 5 5 5 5 5 5
6 6 6 2] 6 2] 6 5] 6 4] 6 13
_7 7] 7 3 7 7 _17 7 3
OXRDEEHS: 1 =RFEREXVAT. 2=1(F#E) ~2(B/N OR. 3=2(138/N) ~3(£)DME. 4=3(%) ~4 (#F)
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1{8(6:25%) 3{E(7.05%) 5fE(10:30) 7{E(12:10) 9OfE(15:30) 11{E(17:30)

gt

EF B % B E &= B % B F & FE 53
HEAE)] 1 6
2| N/ NERRRIT 1 26 2 1 1 31
KEAIES 41 8 2 1 1 53
JFETS 77 47 2 1 127
5|88 E 1 27 28
6| N B EME /B A 9 2 3 14
7 R 29 13 1 6 2 50 1
15E 5 1 2 8
8|tHiEO
9|tH /A REERT 17 1 18
10/lL A 4 1 5
11| BB Al 2 2
12| 7ER&EERT 11 11 3 3 9 5 28| 23
13[EFHIASE DA X IERI 1 1
14EFEFIX 3 22 1 25 22
15| S E{E S Bl 2 4 3 1 9 1
16]/\IEHEIL (KAEFHTO) 6 2 10 8 4 2 20 12
17| B8R EFER 17| 50
18| E &% SR ERAT 1| 213
19| FER R 2 RRAI ]
| 20| {E & A JERI 22| 18
21| PRI 4 4 2 1 1 1 9 4
22| FA/NEHET LIS 7 1 1 7 2
23| JLREE A FT 19
24|92 TSR
26|57 SRR &)
INET 24] 24 387 387] 189 134] 60] 42 19 19 10] 10] 689 616
26|55 SRR ] 1 1
| 25| &R ERBIT[ ]
| | BEERAII#] 14 28 24 17 7 90
24 Y TS5HHI 64 3| 79 2] 31 13 187 5
23|LFEE A 1 2 2 1
22| A/DFHET GLILESFET) 1 1 1 2 1
21| R AT 4 3 3 4
20[{E 2 AKIEHT 6 9 3 6 1 9 16
19| 78 BB B AR A
18| E ik I ERAT 63 120 183
17| B E TSR 1 17 20 11 3 10 1 39| 24
16 [/\tBHEL (A FHTO) 1 2| 26 3] 23 6 5| 56
154 H EME F AT 8 1 8 1 10 5 2| 31
4EFEFIX 2 6 28 2 34
13[EEHIAIE O IERI
12| PEREEIERT 10 14 10 17 4 3 24| 34
| (1 |BEEF 4t A
10[lLFA 1 1
9|t~ REERT 1 1
8|HEO
= 6 2 8
5 FREE 22 14 33 34 103
A EAY=ENEIEED 2 6 25 38 71
5|88 E 1 3 2 3 9
AFEETS 15 15 9 25 64
KEAIES 15 8 19 21 63
2| I /NS R 1 2 9 12
[ [EsElE] . N B O Bl EE B
[ INET 15 15] 131 ] 186 ] 134 152 128 128 141 141 549 622
it 24| 241 402 402] 320] 320 194 194] 147 147] 151 [ 151 ] 1238 1238
O TIUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 2 18] 2 2 2 2 2 18
3 3 10 3 11] 3 6] 3 2] 3 3 29
JREGEERATIT 4 4 4 1| 4 4 4 4 1
5 5 5 5 5 5 5
6 6 1] 6 2| 6 6 6 6 3
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 4] 2 4
3 3 3 5] 3 3] 3 17] 3 11] 3 36
BEREITE 4 4 4 13] 4 8] 4 9] 4 4 36
5 5 5 5 5 5 5
6 6 6 3] 6 4] 6 7] 6 13] 6 27
_7 7] 7 | 7 7 _17 7
OXRDEEHS: 1 =RFEREXVAT. 2=1(F#E) ~2(B/N OR. 3=2(138/N) ~3(£)DME. 4=3(%) ~4 (#F)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA
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3{E(7:05%)

No.

1{%E(6:25%)

5{%(10:30)

7{E(12:10)

9{&(15:30)

274 11A8

11{8(17:30)

I\

x B E B ZE®E B E B E B ZE B =%
HE3E))] 1
2| B /INEAREI 25 2 1 1 29
| 3|EILA 41 14 4 59
EEYES 1 67 52 4 2 126
5| E8EE 1 25 26
6| ¥A A B {E B AT 2 8 1 11
T NEEK 21 12 1 1 35
15 E 3 1 4
8|HEO
9|t REERT 14 14
I TRN=] 18 18
11| B Er 4t Al
12| 7ERRGEERT 8 15 9 8 3 7 20| 30
13[{FHIASE ST X G 1 3 4
4EFIX 17 1 19 18 19
15|43 & BYE B AT 3 1 2 1 7
16|/\iBE I (K FETO) 6 12 4 3 1 1 21 6
17| R ST 12 64
18| EEkAUEERAT 203
19| FEER 4RI 13
| 20| {5 S A [E AT 34| 20
21| PR TEHI 7 4 7 4
22| AR/ (GLILBERED 1 6 2 1 7 3
23| LBEE A 11
24(H > TS5HHI
| 25| 2 ERFIT[ 5]
I €D
P01 €. |
INET 37] 37] 362 362] 171 132] 52 38] 17] 15 4 3] 643 587
~ o & 2 418 z 618 818 0 01%£(16 B(18
0 B TH = - 5
26| % S mbrail %) 2 2
25| &R ERAIE]
#iRERAT[5) 15 22 20 21 22 100
24| TS5HHI 57 3] 66 2| 28 1 2 153 6
23| LBEE A 1 1 2
22| R ARINERFT (SLILE AT 1 1 2 1 1 1 5
| 21| o R 32 F A 1 4] 10 1 1 11 6
20| (S KIEHI 6 12 5 3 1 1 1 12 17
19| Fa & 4R AT
18| Bk AR ERAT 88 1 63 1] 151 2
17| RS TSI 4 10| 21 12 3 1 23| 28
16| /\MEEIL (KX FETO) 1 16 1 10 3 2 29
15| HEME BT 9 5 2 6 1 2 3] 22
BEFIX 4 2 1 27 5[ 29
13|[{EEIASEOTEEB R ERT 1 4 1 4
12| 7ERREERT 15 10 11 18 7 2 1 35| 29
SR
10/l A
9| s REERT 1 1
8|HEO 1 1 2
15 6 3 1 2 12
F< FEE 12 12 25 22 71
6| ¥ A B S Bl 2 3 22 18 45
5| BREE 1 6 3 10
RETE 13 9 20 12 54
K EAIES 16 14 31 14 75
2| B /INFEAREI 2 1 7 2 12
HEAO) N N - N N - N
[ INET 18] 18] 117] 156 129 143] 146 ] 148] o1 92| 501 ] 557
it 37| 37] 380 380 288 | 288 ] 181 181 ] 163] 163] 95| 95] 1144 [ 1144
O TIUREE X A% XB A% X A% XM A% XM A X A X AHGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGEERAT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 21] 7 12 7 1l 7 1l 7 7 35
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREITE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 12 7 12 7 25| 7 22| 7 71

OXFEDECHH: 1 =FERLIYAT. 2=1(FH) ~2(#RE2/) O, 3=2(22/N ~3(£) DM, 4=3(%) ~4 (F=F)
DfE. 5=4(FE) ~5 (&) DfE., 6=5 (&) ~6 (EE) DfE. 7=6 (BE) ~7 (F L) DM



21TRETRNR[REIL—MRBERER 2714121

1{8(6:25%) 3{E(7.05%) 5fE(10:30) 7{E(12:10) 9OfE(15:30) 11{E(17:30) U\

F B 53 E &= B % B F & FE
HEAE)] 1 3
2| N/ NERRRIT 21 1 1 1 24
KEAIES 3 32 12 3 50
AFEETS 12 66 36 6 3 123
5|88 E 2 27 1 30
6| N B EME /B A 3 1 4
7 R 15 38 18 5 3 2 81
15E 3 3
8|HiE0 1 1 2
9|tH /A REERT 15 15
10/lL A 19 19
11| BB Al
12| 7ER&EERT 11 10 3 6 3 12 35 17
13[EFHIASE DA X IERI 1 1 2
14EFEFIX 1 9 2 23 11
15| {F HEYE B Al 1 2 1 2 5 1
16]/\IEHEIL (KAEFHTO) 5 1 15 5 6 4 26 10
17| B8R EFER 11 72
18| E &% SR ERAT 180
19| ZHRa 42
| 20|{E 54 46 26
21| PRI 3 1 1 1 1 4 3
22| FA/ BT (LIS 1 6 2 4 11 2
23| JLREE A FT
24
26|57 SRR &)
INET 67] 67] 351 351 ] 179] 139] 60] 43 19 16 19] 18] 695 634
] s paer 2 H(6:455 A{E(B 6{F .-- 0 OfE(16 &
26|55 SRR ]
| 25| &R ERBIT[ ]
R €D 13 25 29 19 9 95
24 Y TS5HHI 1 45 2| 99 5] 32 4 181 7
23|LFEE A 1 1 3 5
22| A/DFHET GLILESFET) 1 1 1 1
21| R AT 1 12 1 1 13
20[{E 2 AKIEHT 8 10 16 5 1 1 1 25 17
19| 78 BB B AR A
18| E ik I ERAT 50 2| 46 96 2
17| B E TSR 9 17] 28 2 5 3 1 43| 22
16 [/\tBHEL (A FHTO) 3] 23 1] 26 3 4 1 g| 53
154 H EME F AT 8 7 1 7 5 1 27
4EFEFIX 3 37 1 41
13 HIASIE DI IERT 2 2
12| PEREEIERT 9 13 13 15 4 2 1 27| 30
| (1 |BEEF 4t A
10[lLFA 15 15
9|t~ REERT 2 2 4
8|HEO
= 2 10 1 13
Fv v R 317 16 32 1 32 19 | 318 | 99
A EAY=ENEIEED 100 1 12 10 3] 100] 26
5| iEE 17 4 17 4
JEETA 8 23 10 3 44
KEAIES 13 7 19 10 49
2| I /NS R 1] 434 1 6 1 1] 442
[ [EsElE] N N N N N N N o
[ INET 450 | 450 ] 100 140 202 219 117 120] 62] 63] 931 ] 992
it 67] 67] 801 801] 279 279 262 262] 136] 136] 81 81 ] 1626 | 1626
O TIUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 3[ 2 14] 2 4 2 il 2 2 2 22
3 5] 3 12| 3 10] 3 2] 3 3] 3 3 32
JREGEERATIT 4 2| 4 4 4 4 4 4 4 6
5 5 3[ 5 il 5 il 5 5 5 5
6 3] 6 3] 6 3] 6 il 6 6 2] 6 12
7 2] 7 2] 7 7 7 7 7 4
1 1 1 1 1 1 1
2 2 2 2 [ 2 2] 2 2 3
3 3 3 2| 3 8] 3 6] 3 K 23
FERE(TE 4 4 4 7l 4 4 4 5] 4 4 16
5 5 5 4] 5 2| 5 5 2| 5 8
6 6 293 6 3] 6 16] 6 18] 6 8] 6 338
_7 Y | 7 1l 7 2] 7 2l 7 29
OXRDEEHS: 1 =RFEREXVAT. 2=1(F#E) ~2(B/N OR. 3=2(138/N) ~3(£)DME. 4=3(%) ~4 (#F)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA



21TRETRNR[REIL—MRBERER 2851 A

1{8(6:25%) 3{E(7.05%) 5fE(10:30) 7{E(12:10) 9OfE(15:30) 11{E(17:30)

gt

F B E &= B % B F & FE 53
HEAE)] 2
2| N/ NERRRIT 14 1 7 22
KEAIES 3 25 7 35
AFEETS 7 66 28 3 104
5|88 E 1 29 1 31
6| N B EME /B A 6 1 3 1 11
7 R 13 40 22 8 2 3 88
1imL 1 1 2
8|tHiEO
9|tH /A REERT 15 1 16
10/lL A 17 17
11| BB Al 2
12| 7ES&EIER 3 5 3 6 11 22
13[EFHIASE DA X IERI 1 1
14EFEFIX 1 14 1 20 15
15| S E{E S Bl 2 3 1 6
16]/\IEHEIL (KAEFHTO) 1 1 6 4 2 1 9 6
17| B8R EFER 6 8| 55
18| E &% SR ERAT 1| 161
19| 78 B 5P AR AT 28
| 20| {E & A JERI 45| 18
21| PRI 9 2 1 9 3
22| FA/ BT (LIS 5 2 1 1 6 3
23| JLREE A FT 9

24|92 TSR

26

D01 €9 |
EF 58 | 58] 327] 326] 146] 99 42 29 9 8] 20] 19] 602] 539

B(6:45%K A{E(E 6{&E Q4 0 OfE(16

263 it kA 58]
EEET6)

BEETEED] 17 12 13 15 9 66
24 Y TS5HHI 49 1 78 1 37 7 171 2
23|LFEE A 2 1 2 5
22| A/DFHET GLILESFET) 1 1 1 1 2 2
21| R AT 1 1 1 1 1 2 3
20[{E 2 AKIEHT 2 4 9 8 4 1 12 16
19| 78 BB B AR A
18| E ik I ERAT 70 54 124
17| B E TSR 14 25] 19 2 2 3 38| 27
16[/\IBAEIL (KL FHTO) 13 14 5 1 1] 32
154 H EME F AT 9 1 6 5 1 21
4EFEFIX 1 2 29 1 2 31
13[EEHIAIE O IERI 1 1 1 1 2 2
12| PEREEIERT 14 4 9 14 8 5 1 1 32| 24
| (1 |BEEF 4t A
10[lLFA 14 14
9|t~ REERT 1 1
8|HEO 1 1
= 7 3 1 1 12
Fv v R 369 1 23 23 25 18 | 370 | 89
A EAY=ENEIEED 1 1 4 15 7 28
5|88 E 15 1 5 1 15 7
AFEETS 11 10 25 6 52
KEAIES 17 8 25 14 64
2| I /NS R 387 1 2 5 3 398
[ [EsElE] . N B B W EE B N
[ INET 403 ] 404] 97[ 1441 133] 146 135 136] 75] 76 843 ] 906
it 58 | 581 730 730] 243 [ 243 175] 175] 144 144] 95[ 95] 1445 1445
& T IUREE XA A% XE A% XE A% XM A% XM A% XA A% XA ASG
1 1 1 1 1 1 1
2 2 29[ 2 6] 2 il 2 2 3] 2 39
3 4] 3 11] 3 11] 3 2] 3 i 3 3 29
JREGEERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 9] 6 6 7] 6 3] 6 il 6 6 20
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 3[ 2 3] 2 6
3 3 3 4] 3 3] 3 5] 3 8] 3 20
BEREITE 4 4 4 17] 4 0] 4 0] 4 1 4 38
5 5 5 5 5 il 5 5 1
6 6 368] 6 4] 6 10] 6 6] 6 6] 6 394
_7 7] 7 | 7 7 _17 7
OXRDEEHS: 1 =RFEREXVAT. 2=1(F#E) ~2(B/N OR. 3=2(138/N) ~3(£)DME. 4=3(%) ~4 (#F)

D, 5=4(F=) ~5(#) D, 6=5 (&) ~6 (FME) DFHE. 7=6 (E{F) ~7 (H L) DA



21 ENTRNAR[RE LM RBRRER 2852 A

1{8(6:25%) 3{#(7:05%) 5fE(10:30) 7{8(12:10) 9OfE(15:30) 111€(17:30)
x B %= B %= B %® KB % B % &

I\

No. =

HE3E))] 3
2| B /INEAREI 22 1 1 8 32
| 3|EIA 43 13 1 1 58
EEYES 81 28 4 1 114
5| E8EE 1 25 2 28
6| ¥A A B {E B AT 3 6 5 2 16
>~ Nk 7 50 19 11 1 2 90
s 3 1 4
8|HEO 1 1
9|t REERT 15 15
10| ILTF O 15 15

R

12| 7ERRGEERT 24| 27
13[{FHIASE ST X G 3 3
4EFIX 18 1 6 3 1 22 7
15|43 & BYE B AT 2 1 3 1 2 2 9 2
16|/\iBE I (K FETO) 1 9 5 3 5 12 11
17| BHREFTERT 4 2 8| 63
18| Bk AU ERAT 1| 224
19| Fa &R 4R AT 16
| 20| {E & A TR 26 [ 20
21| PR TEHI 2 1 1 1 3 2
22| AR/ (GLILBERED 1 3 1 3 2 7 3

23[dLREE A
24(H > TS5HHI
| 25| £EERAIT[55)
EETE D
P01 €. |
INET 42] 40] 356 356] 151 110] 81 55] 18] 17] 20 20] 668 ] 598

BH(6:45% A{E(B 6{E gS{&E 0 0{E(16 (18

265 S miERil #£]

25| &R ERAIE]
#iRERAT[5) 19 20 25 13 8 85
24| TS5HHI 51 2 76 18 4 149 2
23[dLREE A
22| R ARINERFT (SLILE AT 1 2 1 1 3
| 21| R FE A 4 2 2 2 1 4 7
20| (S KIEHI 4 9 4 4 1 1 8| 15
19| FEER AR AT 2 2
18| Bk AR ERAT 95 1 56 151 1
17| RS TSI 13 18 12 3 5 2 30 23
16| /\MEEIL (KX FETO) 4 18 19 3 4] 40
15| HEME BT 11 4 5 5 8 2 5] 30
BEFIX 1 2 2] 29 1 1 3 33
13|[{EEIASEOTEEB R ERT 1 2 1 2
12| 7ERREERT 13 12 13 15 6 3 1 32| 31
| 11| BEEF 44t Al
10/l A 15 15
9| A REERT 2 1 1 4
8|HEO 1 1
15 2 3 6 1 12
F< v REK 466 15 17 1] 21 13 | 467 | 66
6| ¥ A B S Bl 3 11 19 6 39
5| BREE 45 2 6 2 45 10
AFETH 14 13 17 3 47
K EAIES 15 15 23 14 67
2| B /INFEAREI 514 1 1 6 2 524
HEAO) | N BN S B Bl B
[ INET 2] 530 530 108] 149 139 165] 140 142] 68] 67 985] 1055
it 42| 42] 886 ] 886] 259 259 220 220] 158 159 ] 88| 871653 1653
O TIUREE X A% XB A% X A% XM A% XM A X A X AHGH
1 1 1 1 1 1 1
2 2 33 2 3] 2 2] 2 2 2 38
3 3 16] 3 14] 3 4] 3 3 3 34
JREGEERAT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 1 6 il 6 2] 6 5] 6 i 6 2] 6 18
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 4] 2 i 2 5
3 3 3 3] 3 4] 3 9] 3 o[ 3 25
BEREITE 4 4 4 8| 4 6| 4 2] 4 4 16
5 5 5 i 5 5 5 5 1
6 6 466] 6 2] 6 71 6 1 6 3] 6 485
7 7 7 1| 7 7 7 7 1

OXFEDECHH: 1 =FERLIYAT. 2=1(FH) ~2(#RE2/) O, 3=2(22/N ~3(£) DM, 4=3(%) ~4 (F=F)
DfE. 5=4(FE) ~5 (&) DfE., 6=5 (&) ~6 (EE) DfE. 7=6 (BE) ~7 (F L) DM



21 ENTRNAR[RE LM RBRRER

3{E(7:05%)

No.

1{%E(6:25%)

5{%(10:30)

7{E(12:10)

9{%(15:30)

11{8(17:30)

I\

x B E B ZE®E B E B E B ZE B =%
HE3E))]
2| B /INEAREI 6 1 4 11
| 3|EILA 31 9 1 41
EEYES 1 63 37 4 2 107
5| E8EE 11 1 12
6| ¥A A B {E B AT 3 3 2 1 9
>~ Nk 1 49 34 10 2 1 97
15 E 4 2 6
8|HEO 1 1
9|t REERT 15 15
I TRN=] 16 1 17
11| B Er 4t Al
12| 7ERRGEERT 3 18 11 7 2 4 1 17 29
13[{FHIASE ST X G 3 3
4EFIX 25 7 2 7 1 27 15
15|43 & BYE B AT 5 2 2 1 10
16|/\iBE I (K FETO) 12 4 4 1 16 5
17| R ST 2 8| 70
18| EEkAUEERAT 2| 149
19| FEER 4RI 8
| 20| {E & A TR 33 25
21| PR TEHI 6 1 7
22| AR/ (GLILBERED 1 5 2 6 2
23[dLREE A 10
24(H > TS5HHI
| 25| 2 ERFIT[ 5]
I €D
P01 €. |
INET 34] 34] 303 302] 173 133] 68] 42] 10] 10] 13] 13] 601 [ 534
. o A 4{E .“ 8{E | l E(16 B(18
26| % S mbrail %)
25| &R ERAIE]
#iRERAT[5) 18 21 25 20 6 90
24| TS5HHI 57 3] 89 1 24 5 175 4
23| LBEE A 1 1 2
22| R ARINERFT (SLILE AT
| 21| R FE A 3 1 1 1 1 5
20| (S KIEHI 8 3 7 8 2 15 13
19| Fa & 4R AT
18| Bk AR ERAT 48 6| 135 183 6
17| RS TSI 2 17 15] 24 2 3 1 1 2| 45| 22
16| /\MEEIL (KX FETO) 1 24 1 22 5 2 51
15| HEME BT 11 4 2 6 4 2] 25
BEFIX 3 1 3] 41 2 1 6| 45
13 EIASE TR ERT 3 2 1 1 5
12| 7ERREERT 17 10 11 12 5 1 34| 22
SR
10l TFO 1 19 20
9| s REERT 1 1
8|HEO 1 1
15 5 6 5 1 17
F< FEE 19 36 14 36 105
6| ¥ A B S Bl 1 3 12 14 32 62
5| BREE 1 3 2 6
RETE 22 6 11 21 60
K EAIES 17 6 15 14 52
2| B /INFEAREI 1 1 3 4 9
i ERE] I N N o G N
[ INET 18] 19 124 164 164] 190] 100] 101 ] 150] 149] 556 [ 623
it 34| 34| 321 321 ] 297 | 297 ] 232 232 +110] 111] 163] 162 1157 [ 1157
O TIUREE X A% XM A% X A% XM A% XM A X A XE AHGH
1 1 1 1 1 1 1
2 2 33| 2 3] 2 2 2 1] 2 37
3 3 5] 3 18] 3 7] 3 3] 3 3 43
JREGEERAT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 1] 6 6 14] 6 2] 6 6 6 17
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 1] 2 1] 2 5] 2 7
3 3 3 6] 3 6] 3 0] 3 1] 3 33
BEREITE 4 4 4 1] 4 7] 4 1] 4 6] 4 25
5 5 5 5 1] 5 5 5 2
6 6 6 2] 6 18] 6 3] 6 14] 6 37
7 7 7 7 1| 7 7 7 1

OXFEDECHH: 1 =FERLIYAT. 2=1(FH) ~2(#RE2/) O, 3=2(22/N ~3(£) DM, 4=3(%) ~4 (F=F)
DfE. 5=4(FE) ~5 (&) DfE., 6=5 (&) ~6 (EE) DfE. 7=6 (BE) ~7 (F L) DM



21RETRNAXR IR I —FIERBERER H27.4.1 ~H28.3.31
No p 1{E(6:25%) 3fE(7:05%) 5{F(10:30) 7{F(12:10) 9fFE(15:30) 11{/E(17:30)
) i E B O B %= B %F B % B F ©B
1 :r.ﬁ‘{%] 27
2| B /AR 15 218 15 32 15 31 326
KIEAUEN 12 444 151 37 6 5 655
4FEETR 31 1| 772 454 50 1 14 1321 2
5|BEE 15 302 3 8 2 330
6| ¥A 2 BRE ST 18 64 16 20 11 2 10 1] 139 3
Fv o Rk 49 362 221 1| 77 18 10 737 1
115 L 5 47 9 7 1 69
g|HEO 1 2 2 5
9|t /2> BERRI 172 1 6 3 1 183
10/lL ™A 104 5 2 4 113 2
11| BEFp et i 2
12| FEABEERT 293
13[FFHIASIE OAEBXERT 4 26
4FE1RX 232 15| 101 25 12 9 3 2 283 | 116
15| (¥ & EMEF AT 29 22| 23] 39 3 3 1 7 100 [ 27
16]/\iBEdL (KA FATO) 55 8| 139 64 57 20 2 7 253 99
17|ERETEHI 8 183 | 772
18| B8k AUEERAT 27 | 2024
19| FE &R SRR 212
| 20| {E & A5 R 376 1] 18] 220] 47] 13 4 3 3| 444 241
RIEESE 72 3 8| 19 2| 44 4 1 3] 83| 73
22 | AR (ST LKA 1 48| 28] 11 5 1 2 6| 64| 42
23|LREE HET 3 4
24| TSHHI
| 25| &R ERAT[5E]
£EERAI[ 3]
26|% K EkERIE]
INET 445 [ 443 4123 4119 2073 1530 | 860 [ 573 ] 227 211 ] 185] 180] 7913 ] 7056
26| % s ymbeRi 3] 4 4
25| & EERAT[5E)
fRERAT[38) 173 275 263 230 120 1061
24| TSHHI 1 683 | 27| 952| 26| 377 1 82 2095 | 54
23|LREE HET 4 4 14 5 13 1 7 42 6
22 | # AR (LIS 1 8 6 2 7 3 7 4] 14| 24
21| R 3 F A 6 19/ 39] 41| 13 6 5 7] 72[ 64
20[{ES KGRI 3 3] 84| 112] 69 74 8 6 1 9| 165] 204
19| Fa & S AR HIT 2 2
18| B8k £UEERTT 749 | 21| 925 411674 25
17|BRAFEH 1 22| 203] 245] 198 59| 62| 12] 25| 10| 489 348
16]/\1BEdL (KA1 O) 1 2 19| 285 12| 252 9 74 3 9] 44] 622
151X HEMERAEI 1 84 1 48] 22| st 2 61 4] 26| 278
4[FE 1R 3 14 51 26 | 364 9 3 40 | 430
13[EHIASE DA IR ERT 3 7 4 15 1 1 1 8 24
12| 7ESfREIERI 149 | 130] 128 ] 172 81 28 24 7] 382 | 337
| 11| B EF st Al 2 2
10/l FO 1 4 4 64 73
9| A REEHI 11 8 3 3 25
8|HEN 2 1 1 2 6
1iZE 1 65 53 16 10 145
v Rk 1152 1 1| 244 ] 12| 279 2 | 331 369 |1167 [1224
6| ¥\ 2 BME S Al 100 3 29 78 179 159 | 100 | 448
HEES 77 7 10 2| 50 49| 79| 116
4 FESR 143 150 171 139 603
RIEAIIES 1 193 124 244 159 721
2| B /NERRE 1| 1341 16 35 95 22 1| 1509
HEAG I I s 342 220 246 157 1030
[ INET 2] 1525 [ 1529 [ 1463 [ 2006 J 1743 | 2030 | 1544 [ 1562 [ 1188 [ 1191 | 7463 [ 8320
it 445 | 445 | 5648 | 5648 | 3536 | 3536 | 2603 | 2603 | 1771 [ 1773 ] 1373 [ 1371 ] 15376 [15376
O TIURER X A% X A% X A% X A X A% XHE A% X AHE
1 1 1 1 1 1 1
2 9| 2 185] 2 17] 2 4] 2 2 4] 2 219
3 16] 3 131] 3 157] 3 50 3 15| 3 1] 3 370
JREGEERAIT 4 2] 4 5] 4 1] 4 1] 4 4 4 9
5 5 3] 5 1 5 1 5 5 5 5
6 20 6 13| 6 35| 6 18] 6 5 6 5 6 96
7 2] 7 23] 7 12 7 1] 7 1] 7 7 39
1 1 1 1 1 1 1
2 2 2 2 2] 2 24| 2 26 2 52
3 3 1] 3 88| 3 110 3 148] 3 175] 3 522
EERE{TE 4 4 1] 4 112] 4 71| 4 60| 4 31| 4 275
5 5 5 6] 5 3] 5 2| 5 6] 5 17
6 6 | 1127] 6 19] 6 79] 6 79] 6 109 6 | 1413
7 7 24| 7 21 7 16| 7 271 7 7 112]

OXEIDCHH: 1 —EEEL VAL

2=1 (k) ~2 (B!

VDR, 3=2 IR /1) ~3 (%) DM 4= 3($)~4(1¥_L)
DFE.5=4(FF)~5#) D, 6=5(#) ~6 (F{E) DfE. 7=6 (BE) ~7 (F L) DFHE



